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Correction primitives

_ox#l 1242 1w 10 1oL
a) 1‘(x)—(X2+2X)3—2.()(2+2X)3 2700 2U(x)u ) 25 (=2)u'(x)u~(x),
_ - - N 2 _ 1
ux)=x2+2x,n-1=-3,n=-2, Fx)= 4(x +2Xx)7° = —4(x2+2x)2'

1 2x 1 u(x) 1 1
b) f(x)= X _Z == avecu(X) =x2—-1, A(X)==Inux)==In(x2-1)+k.
) f(x) 1 2 %1 2 W () HXx) 5 (X) 5 (x2-1)
In x 1 1 . _
C) f(x):x—1+—=x—1+—xlnx=x—1+5x2u (x)x u(x) avec u(x) = Inx,
X X

X2 1 X2 1 2
X)=——-X+=-u(X)=—-x+=(Inx) +k.
Fx) 2 2 ) 2 2( )

d) f(x) = (sin® — 3'sin X +8).C0OS X = COS X x SiN°X — 3 COS X x SN X + 8 COS X ;

u(x) = sin®x, u’(x) = 3c0s X sin2x, v(x) = sin2 x, v’(x) = 2¢0S X sin X, W(x) = sin X, wW’(X) = cOS X.

F(x):%sin3 x—gxsin2 X+8xsin x+k .

F(3—”)=0@15in33—”—§xsin23—”+8xsin3—”+k=o@—1—§—8+k=o©k=w=5—9.
2 3 2 2 2 2 3 2 6 6
F(x):lsin3x—§sin2x+8sin X+,
3 2 6
3 2 2
) f(x):X +25x + 7X + 4 =(x+3)(x +2x+1)+1= S I SR
X“+2x + 1 X2+2x+1 X2+2x+1 (x+1)
X2 1
X)=—+3Xx———.
A 2 X+1



